SUPPLEMENTAL WORK AUTHORIZATION NO. 5 TO WORK AUTHORIZATION NO. 2

WILLIAMSON COUNTY ROAD & BRIDGE PROJECT:

County Road 255 – Environmental Services

This Supplemental Work Authorization No. 5 to Work Authorization No. 2 is made pursuant to the terms and conditions of the Williamson County Contract for Consulting Services, being dated February 25, 2020 ("Contract"), and entered into by and between Williamson County, Texas, a political subdivision of the State of Texas (the "County"), and SWCA, Incorporated (the "Firm").

WHEREAS, the County and the Firm executed Work Authorization No. 2 dated effective June 22, 2021 (the "Work Authorization");

WHEREAS, pursuant to Article 14 of the Contract, amendments, changes, and modifications to a fully executed Work Authorization shall be made in the form of a Supplemental Work Authorization; and

WHEREAS, it has become necessary to amend, change and modify the Work Authorization.

AGREEMENT

NOW, THEREFORE, premises considered, the County and the Firm agree that the Work Authorization shall be amended, changed, and modified as follows:

- I. The Services to be Provided by the Firm that were set out in the original Attachment "B" of the Work Authorization are hereby amended, changed, and modified as shown in the attached revised Attachment "B" (must be attached).
- II. The maximum amount payable for services under the Work Authorization is hereby increased from \$62,138.89 to \$69,291.32, reflecting an increase of \$7,152.43. The revised Fee Schedule is attached hereto as Attachment "D" (must be attached).

Except as otherwise amended by prior or future Supplemental Work Authorizations, all other terms of the Work Authorization are unchanged and will remain in full force and effect.

This Supplemental Work Authorization does not waive the parties' responsibilities and obligations provided under the Contract.

IN WITNESS WHEREOF, the County and the Firm have executed this Supplemental Work Authorization, to be effective as of the date of the last party's execution below.

FIRM:	COUNTY:			
By: All Hade	By:			
Signature	Signature			
Matthew McMillan				
Printed Name	Printed Name			
Natural Resources Director – Austin				
Title	Title			
November 26, 2024				
Date	Date			

LIST OF ATTACHMENTS

Attachment B - Services to be Provided by the Firm

Attachment D - Fee Schedule

APPROVED

By Christen Eschberger at 3:02 pm, Dec 04, 2024

ATTACHMENT B Services to be Provided by the Firm

WORK AUTHORIZATION NO. 2 SUPPLEMENTAL #5 PROJECT: County Road 255 Environmental Services

Phase 03 - Cultural Resources Assessment

The County noticed a relatively small gap in cultural resources (CR) compliance coverage at the south end of the project, where the project intersects the existing Ronald Reagan Boulevard. After conferring with the Firm, it was decided that a letter of memorandum (memo) would be submitted to the Texas Historical Commission (THC) recommending CR coverage for the gap, but without excavating additional shovel tests due to the existing studies associated with both roadways.

The Firm will organize a background review with data collected during the CR 255 field surveys and the original Ronald Reagan Boulevard surveys (which the Firm also performed) to demonstrate that the coverage gap is very small and is contained within a previously disturbed area that was previously cleared by the THC. Due to these previous extensive disturbances, a cultural resources survey within the existing Ronald Reagan Boulevard right-of-way is not likely required. As such, the Firm will make a professional recommendation that no survey is needed for regulatory compliance and that the memo is sufficient to obtain such compliance.

Phase 05 - Pre-construction Notification

The Firm submitted a pre-construction notification (PCN) to the U.S. Army Corps of Engineers (USACE) in July 2024. The USACE responded in mid-August with several requested updates, most of which were fairly minor. However, one of the requests included an additional field survey to investigate potential historical structures near a jurisdictional stream crossing, with an update to the associated CR due diligence document and report re-submittal to the THC. This request resulted in unanticipated time when assembling the budget for the PCN. As such, the Firm requests additional funds to cover a small overrun.

Assumptions

- This scope of services includes no in-person meetings or site visits with any agency.
- No additional cultural resources field investigation will be required.
- The THC will agree with the proposed recommended project coverage without the need for additional shovel tests.

Attachment D Fee Schedule

ATTACHMENT D Fee Schedule

WORK AUTHORIZATION NO. 2 SUPPLEMENTAL #5 PROJECT: County Road 255 Environmental Services

Estimated Cost Breakdown

The Firm proposes to conduct the services described in Attachment B on a time and materials basis in accordance with SWCA's 2021 Adjusted Rate Schedule.

Project Role Rate		Phase 03 - Cultural Resources Assessment		Phase 05 - Pre-construction Notification		Total Hours	Total Charge
		Hours	Charge	Hours	Charge		
Specialist I	\$68.10	0	\$0.00	0	\$0.00	0	\$0.00
Specialist II	\$80.30	0	\$0.00	0	\$0.00	0	\$0.00
Specialist III	\$90.46	0	\$0.00	0	\$0.00	0	\$0.00
Specialist IV	\$100.62	0	\$0.00	0	\$0.00	0	\$0.00
Specialist V	\$110.79	5	\$553.95	0	\$0.00	5	\$553.95
Specialist VI	\$120.95	8	\$967.60	9	\$1,088.55	17	\$2,056.15
Specialist VII	\$133.15	12	\$1,597.80	4	\$532.60	16	\$2,130.40
Specialist VIII	\$144.33	8	\$1,154.64	4	\$577.32	12	\$1,731.96
Specialist IX	\$155.51	3	\$466.53	0	\$0.00	3	\$466.53
Specialist X	\$173.80	0	\$0.00	0	\$0.00	0	\$0.00
Specialist XI	\$190.07	0	\$0.00	0	\$0.00	0	\$0.00
Specialist XII	\$208.36	0	\$0.00	0	\$0.00	0	\$0.00
Subject Matter Expert	\$213.44	1	\$213.44	0	\$0.00	1	\$213.44
Total Labor 54							\$7,152.43